					BID RESULTS						
				AB2019-01 PAVING IMPROV	VEMENTS FOR MERCER OAKS PARKING LO	T FOR THE MERCER COUNTY PARK COMMIS	SSION				
					BID OPENING DATE: JANUARY	31,2019					
BIDS RECEIVED	11										
NAME OF BIDDER	MECO, INC	EARLE ASPHALT COMPANY	RICHARD T. BARRETT PAVING CO INC.	AMERICAN ASPHALT COMPANY INC.	DIAMOND CONSTRUCTION	GARDEN STATE SEALING	TOP LINE CONSTRUCTION CORP.	GLEN G. HALE, INC.	SHORE TOP CONSTRUCTION CORP.	GRES PAVING CO., INC.	PROTECTIVE PAVING, LLC.
ADDRESS	P.O BOX 536	P.O BOX 556	400 PROSPECT STREET	100 MAIN ST	35 BEAVERSON BLVD SUITE 12C	300 COMMERCE DRIVE	22 FIFTH STREET	165 RIVER ROAD	207 SQUANKUM ROAD	2475 EAST STATE STREET EXT.	12 KEARNEY DRIVE
CITY, STATE, ZIP	CLARKSBURG, NJ 08510	FARMINGDALE, NJ 07727	TRENTON, NJ 08618	WEST COLLINGSWOOD HEIGHTS , NJ 08059	BRICK,NJ 08723	TINTON FALLS, NJ 07753	SOMERVILLE, NJ 08876	FLEMINGTON, NJ 08822	FARMINGDALE, NJ 07727	TRENTON, NJ 08619	MILLTOWN, NJ 08850
CONTACT	JOHN ALEXANDER LUCAS	BRIAN M. COOPER	RICHARD T. BARRETT JR.	JOHN KRIDER	JOHN K.	RICHARD MANNERS	STEVEN CASTELA	L. JOHN GRECO	MICHAEL SMIT	RALPH TERRACCIAND	WILLIAM L. FAMA
TELEPHONE	609-443-4344	732-308-1113	609-882-2236	856-456-2899	732-262-7449	732-229-7758	908-231-7570	908-7824770	732-835-2600	609-890-6848	732-828-4177
FAX	609-443-9304	732-308-1034	609-396-0572	856-456-6789	732-262-7795	732-229-4944	908-231-7402	908-782-5276	732-256-9273	609-890-7702	732-828-5440
E-MAIL	ALFREDOJR@MECOPAVING.COM	BCOOPER@EARLECO.COM	EILEEN@RTBARETTPAVING.COM	JKRIDER@AMERICANASPHALTCOMPANY.C	DIAMONDJOHNA@YAHOO.COM	RICHMANNERS@GARDENSTATESEALING. COM	SCASTELA@TOPLINECONSTRUCTION.CO M	HALEBUILT@RCN.COM	MIKE@SHORETOPCC.COM	GRESPAVING@AOL.COM	BILLSPROTECTIVE PAVING @YAHO
ADDENDUM NO ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	DID NOT INCLUDE	SIGNED AND DATED
BID BOND	HUDSON INSURANCE COMPANY 10% NTE 20K	FEDERAL INSURANCE COMPANY 10% NTE 20K	NORTH AMERICAN SPECIALTY INSURANCE COMPANY 10% NTE 20K	FIDELITY AND DEPOSIT CO. OF MARYLAND 10% NTE 20K	BONDEX INSURANCE COMPANY 10% NTE 20K	NGM INSURANCE COMPANY 10% NTE 20K	GREAT AMERICAN INSURANCE COMPANY 10% NTE 20K	AEGIS SECURITY INSURANCE COMPANY 10% NTE 20K	HUDSON INSURANCE COMPANY 10% NTE 20K	GREAT AMERICAN INSURANCE CO. 10% NTE 20K	SELECTIVE INSURANCE CO. OF AMERICA 10 % NTE 20K
CONSENT OF SURETY	BRUCE M. ALLEN AIF WITH POA	DANIELLE D. JOHNSON AIF WITH POA	FERNANDA L. DEPAOLANTONIA AIF WITH POA	DENISE M. BRUNO AIF WITH POA	PHILIP S. TOBEY AIF WITH POA	DAWN JONES AIF WITH POA	DONALD GOETZ AIF WITH POA	MARTIN J. HELLMAN AIF WITH POA	DAWN JONES AIF WITH POA	DAWN JONES AIF WITH POA	CHRISTINE L. CARTIER AIF WITH POA
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
PREVAILING WAGE CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EIC	EXPIRED NEW CERT. REQUIRED IF AWARDED	5657 EXPIRES 12.15.19	REQUIRED IF AWARDED	6353 EXPIRES 1.15.20	22398 EXPIRES 2.15.25	29049 EXPIRES 10.15.21	REQUIRED IF AWARDED	REQUIRED IF AWARDED	57883 EXPIRES 8.15.24	15417 EXPIRES 10.15.21	15194 EXPIRES 9.15.21
STOCKHOLDER DISCLOSURE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	NOT INCLUDED	INCLUDED	NOT INCLUDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
PW CONTRACTOR REG.	60144 EXPIRES 6.8.2020	18315 EXPIRES 5.05.19	615531 EXPIRES 3.7.20/CERTIFICATE REQUIRED IF AWARDED	50705 EXPIRES 5.5.19	69394 EXPIRES 3.7.20	700724 EXPIRES 5.4.20	614639 EXPIRES 5.12.20	654182 EXPIRES 11.15.19	674086 EXPIRES 6.1.19	67716 EXPIRES 5.5.20	604151 EXPIRES 6.16.20
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK	OK	OK	OK	OK	OK
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	NOT INCLUDED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	NOT INCLUDED
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
THREE REFERENCES	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW	INCLUDED PC TO REVIEW
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES
TOTAL BID AMOUNT	\$ 257,530.50	\$ 259,113.13	\$ 265,384.25	\$ 346,790.75	\$ 493,545.25	\$ 324,424.00	\$ 297,352.77	\$ 292,032.97		\$299,582.50	\$ 278,000.00
EXCEPTIONS	NONE	NONE	NONE	NONE	NONE	NONE	NONE	NONE	NO AMOUNT ON LINE 1 ON PROPOSAL; INCORRECT TOTAL AMOUNT	NONE/DID NOT PROVIDE UNIT COST	NONE
FATAL FLAW	NO.	NO	NO.	NO.	NΩ	NO.	NΩ	NO	NO	YES	NO

	,	AB2019	-01 PAVIN	G IMPR	OVEM	ENTS FOR M	ERC	ER OAKS PA	RKIN	IG LOT FOR TH	IE M	ERCER COUNT	Y PA	ARK COMMISSI	ON				
AB2019-(DESCRIPTION			UNIT QUANTITY															T	
					MECO	D. INC.		EARLE ASPHALT CO.		ALT CO.		RICHARD T. BARRETT PAVING		AMERICAN ASPHALT COMPANY		DIAMOND CONSTRU		ISTRUCTION	
				UNIT	COST	AMOUNT		UNIT COST		AMOUNT		UNIT COST		AMOUNT	UNIT COST	AMOUNT	UNIT COST		AMOUNT
1	MOBILIZATION	LS	1	\$ 5,5	00.00	\$ 5,500	.00	\$ 5,078.73	\$	5,078.73	\$	14,000.00	\$	14,000.00	\$ 10,000.00	\$ 10,000.00	\$ 30,000.00) \$	30,000.00
2	MILLING 2"	SY	16350	\$	2.30	\$ 37,605	.00	\$ 2.35	\$	38,422.50	\$	2.30	\$	37,605.00	\$ 2.00	\$ 32,700.00	\$ 9.00) \$	147,150.00
3	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2"THICK	TON	1,921	\$	84.00	\$ 161,364	.00	\$ 87.00	\$	167,127.00	\$	75.00	\$	144,075.00	\$ 108.00	\$ 207,468.00	\$ 105.00) \$	201,705.00
4	HOT MIX ASPHALT 19M64 BASE COURSE, 4"THICK	TON	62	\$	85.00	\$ 5,270	.00	\$ 68.00	\$	4,216.00	\$	101.00	\$	6,262.00	\$ 120.00	\$ 7,440.00	\$ 60.00) \$	3,720.00
5	DENSE GRADED AGGREGATE BASE COURSE, 6" THICK	SY	265	\$	5.00	\$ 1,325	.00	\$ 0.01	\$	2.65	\$	19.00	\$	5,035.00	\$ 6.00	\$ 1,590.00	\$ 27.00) \$	7,155.00
6	PRECAST MANHOLE, 4' I.D., 4' DEEP	EA	1	\$ 4,2	00.00	\$ 4,200	.00	\$ 4,500.00	\$	4,500.00	\$	4,200.00	\$	4,200.00	\$ 6,500.00	\$ 6,500.00	\$ 10,000.00) \$	10,000.00
7	8" DIAMETER PERFORATED PVC PIPE WITH 3/4" STONE	LF	197	\$	82.00	\$ 16,154	.00	\$ 76.50	\$	15,070.50	\$	92.00	\$	18,124.00	\$ 200.00	\$ 39,400.00	\$ 150.00) \$	29,550.00
8	15" DIAMETER REINFORCED CONCRETE PIPE	LF	135	\$	76.00	\$ 10,260	.00	\$ 69.50	\$	9,382.50	\$	108.00	\$	14,580.00	\$ 150.00	\$ 20,250.00	\$ 200.00) \$	27,000.00
9	CONCRETE HEADWALL WITH APRON & RIP RAP	EA	1	\$ 5,1	00.00	\$ 5,100	.00	\$ 5,500.00	\$	5,500.00	\$	11,000.00	\$	11,000.00	\$ 10,000.00	\$ 10,000.00	\$ 20,000.00) \$	20,000.00
10	TRAFFIC STRIPES (4" UNIT WIDTH)	LF	9965	\$	0.70	\$ 6,975	.50	\$ 0.80	\$	7,972.00	\$	0.65	\$	6,477.25	\$ 0.75	\$ 7,473.75	\$ 1.2	<i>i</i> \$	12,456.25
11	TRAFFIC STRIPES (24" UNIT WIDTH)	LF	192	\$	16.50	\$ 3,168	.00	\$ 6.00	\$	1,152.00	\$	15.50	\$	2,976.00	\$ 18.00	\$ 3,456.00	\$ 24.00) \$	4,608.00
12	6" TOP SOIL	SY	9	\$	25.00	\$ 225	.00	\$ 55.00	\$	495.00	\$	50.00	\$	450.00	\$ 25.00	\$ 225.00	\$ 1.00) \$	9.00
13	JUTE MATTING	SY	9	\$	2.00	\$ 18.	.00	\$ 1.25	\$	11.25	\$	26.00	\$	234.00	\$ 1.50	\$ 13.50	\$ 1.00) \$	9.00
14	SILT FENCE	LF	183	\$	2.00	\$ 366	.00	\$ 1.00	\$	183.00	\$	2.00	\$	366.00	\$ 1.50	\$ 274.50	\$ 1.00) \$	183.00
	TOTAL					\$ 257,530.	50		\$	259,113.13			\$	265,384.25		\$ 346,790.75		\$	493,545.25

				AB2019-01	PAVING IMPRO	VEMENTS FOR	MERCER OAKS PAR	(ING LOT FOR THE	MERCER COUNTY F	ARK COMMISSIO	N				
AB2019-0	DESCRIPTION	UNIT	QUANTITY	7											
	GAI		GARDEN S	TATE SEALING	TOP LINE CO	NSTRUCTION CORP	GLEN G. HALE, INC.		SHORE TOP CON	ISTRUCTION CORP	GRES PAVING CO		PROTECTIVE PAVING LLC		
				UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT	UNIT COST	AMOUNT
1	MOBILIZATION	LS	1	\$ 20,550.30	\$ 20,550.30	\$ 10,920.00	\$ 10,920.00	\$ 12,511.00	\$ 12,511.00	\$ -	\$ -		\$ 15,000.00	\$ 44,711.35	\$ 44,711.35
2	MILLING 2"	SY	16350	\$ 4.40	\$ 71,940.00	\$ 3.13	\$ 51,175.50	\$ 3.25	\$ 53,137.50	\$ 3.25	\$ 53,137.50		\$ 49,050.00	\$ 2.50	\$ 40,875.00
3	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2"THICK	TON	1,921	\$ 93.50	\$ 179,613.50	\$ 93.19	\$ 179,017.99	\$ 80.59	\$ 154,813.39	\$ 98.00	\$ 188,258.00		\$ 182,495.00	\$ 70.00	\$ 134,470.00
4	HOT MIX ASPHALT 19M64 BASE COURSE, 4"THICK	TON	62	\$ 90.20	\$ 5,592.40	\$ 108.13	\$ 6,704.06	\$ 98.36	\$ 6,098.32	\$ 98.00	\$ 6,076.00		\$ 9,300.00	\$ 80.00	\$ 4,960.00
5	DENSE GRADED AGGREGATE BASE COURSE, 6" THICK	SY	265	\$ 7.70	\$ 2,040.50	\$ 0.01	\$ 2.65	\$ 10.05	\$ 2,663.25	\$ 3.00	\$ 795.00		\$ 1,325.00	\$ 9.21	\$ 2,440.65
6	PRECAST MANHOLE, 4' I.D., 4' DEEP	EA	1	\$ 2,750.00	\$ 2,750.00	\$ 4,896.05	\$ 4,896.05	\$ 7,471.00	\$ 7,471.00	\$ 4,500.00	\$ 4,500.00		\$ 3,275.00	\$ 5,000.00	\$ 5,000.00
7	8" DIAMETER PERFORATED PVC PIPE WITH 3/4" STONE	LF	197	\$ 63.80	\$ 12,568.60	\$ 89.79	\$ 17,688.63	\$ 124.33	\$ 24,493.01	\$ 50.00	\$ 9,850.00		\$ 16,597.25	\$ 50.00	\$ 9,850.00
8	15" DIAMETER REINFORCED CONCRETE PIPE	LF	135	\$ 82.50	\$ 11,137.50	\$ 81.44	\$ 10,994.40	\$ 119.90	\$ 16,186.50	\$ 55.00	\$ 7,425.00		\$ 6,459.75	\$ 100.00	\$ 13,500.00
9	CONCRETE HEADWALL WITH APRON & RIP RAP	EA	1	\$ 5,335.00	\$ 5,335.00	\$ 5,676.96	\$ 5,676.96	\$ 4,495.00	\$ 4,495.00	\$ 5,000.00	\$ 5,000.00		\$ 5,585.00	\$ 3,500.00	\$ 3,500.00
10	TRAFFIC STRIPES (4" UNIT WIDTH)	LF	9965	\$ 0.65	\$ 6,477.25	\$ 0.84	\$ 8,370.60	\$ 0.66	\$ 6,576.90	\$ 0.60	\$ 5,979.00		\$ 5,979.00		\$ 9,965.00
11	TRAFFIC STRIPES (24" UNIT WIDTH)	LF	192	\$ 20.00	\$ 3,840.00	\$ 4.20	\$ 806.40	\$ 16.50	\$ 3,168.00	\$ 15.00	\$ 2,880.00		\$ 2,880.00		\$ 1,728.00
12	6" TOP SOIL	SY	9	\$ 121.00	\$ 1,089.00	\$ 29.85	\$ 268.65	\$ 3.00	\$ 27.00	\$ 10.00	\$ 90.00		\$ 679.50		\$ 4,000.00
13	JUTE MATTING	SY	9	\$ 132.00	\$ 1,188.00	\$ 11.80	\$ 106.20	\$ 3.00	\$ 27.00	\$ 10.00	\$ 90.00		\$ 362.25		\$ 1,000.00
14	SILT FENCE	LF	183	\$ 1.65	\$ 301.95	\$ 3.96	\$ 724.68	\$ 2.00	\$ 366.00	\$ 2.00	\$ 366.00		\$ 594.75		\$ 2,000.00
TOTAL					\$ 324,424.00		\$ 297,352.77		\$ 292,033.87		\$ 284,446.50		\$ 299,582.50		\$ 278,000.00

	RID P	ESULTS										
												
CK09MERCER20	118-33B CARPET FOR THE COUNTY OF MERCER	AND THE MERCER COUNTY COOPERATIVE PURCHA	SING SYSTEM									
BID OPENING DATE: 01.18.19 POSTPONED FROM 01.31.2019												
AWARD TWO (2) YEARS WITH THE OPTION TO EXTEND ONE (1) YEAR BASED UPON THE INDEX RATE; ONE ADDENDA ISSUED; AWARD MULTIPLE CONTRACTS BASED UPON THE LOWEST UNIT COST PER LINE ITEM, ALL INCLUSIVE OF LABOR AND MATERIALS FOR NEW INSTALLATIONS; DELIVERY FOR MATERIALS SHALL BE F.O.B. DESTINATION; ALL WORK WARRANTED FOR ONE YEAR	INCLUDE ADDENDUM NO. ONE											
NO. OF RESPONDENTS:	3											
NAME OF BIDDER	COMMERCIAL INTERIORS DIRECT, INC.	CONTRACT FLOORING SYSTEMS, LLC.	BUZZY'S CARPET, INC.									
ADDRESS	1 S. CORPORATE DRIVE	40 COLLEGE STREET	238 14TH AVE									
CITY, STATE, ZIP	RIVERDALE, NJ 07457	TRENTON, NJ 08611	SEASIDE PARK, NJ 08752									
CONTACT	STEVEN MULLER	STEVE PARISH	RONALD BUSSEY									
TELEPHONE	973 839 8394	609 393 0123	732 656 1320									
FAX	973 839 8376	609 393 0703	732 656 1813									
E-MAIL	SALES@COMMERCIALINTERIORSDIRECT.COM	CONTFLRSYS@AOL.COM	BUZZYSCARPET@HOTMAIL.COM									
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED									
PUBLIC WORKS CONTRACTOR REGISTRATION	589927 EXPIRES 05.07.2020	657224 EXPIRES 9.21.2019	REQUIRED IF AWARDED									
INDEMNIFICATION AND INSURANCE REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED									
INSURANCE CERTIFICATE	REQUIRED IF AWARDED	INCLUDED	INCLUDED									
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK									
STOCKHOLDER DISCLOSURE	OK	OK	OK									
EXHIBIT A	INCLUDED	INCLUDED	REQUIRED IF AWARDED									
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED									
PREVAILING WAGE CERTIFICATION	SIGNED	SIGNED	SIGNED									
EIC	16761 EXPIRES 06.15.2022	43360 EXPIRES 5.15.2023	35990 EXPIRES 10.15.25									
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES									
EXTEND TO COOP	YES	YES	YES									
CONTINUITY OF SERVICE	YES	YES	YES									
exceptions	NONE	EXCEPTIONS LISTED ON PAGE 70, FOR B & G TO REVIEW	NONE									
FATAL FLAW	NO	NO										

					CK09MERCER2018-	33B REBID OF CARPET	AND FLOORING PRO	OPOSAL FOR A PE	RIOD OF TWO YEARS WITH OPTI	ON TO EXTEND O	NE YEAR					
					AB2019-01	PAVING IMPROVEME	NTS FOR MERCER C	AKS PARKING LO	T FOR THE MERCER COUNTY PAI	RK COMMISSION						
					COM	MERICAL INTERIO	RS DIRECT INC.		CONTR	BUZZYS CARPET						
ITEM N	D. TYPE	DESCRIPTION	GLUED/DOUBLE GLUED OR SELF STICK	BRAND/COLLECTION	BRAND OR EQUIVALENT ACCEPTABLE FOR LINES THAT ARE NOT SHADED	LABOR COST PER SQUARE YARD FOR NEW INSTALLATIONS	MATERIALS COST DELIVERED FOB DESTINATION PER SQUARE YARD FOR NEW INSTALLATION	TOTAL FOR LABOR AND MATERIALS FOR NEW INSTALLATIONS DELIVERED AND INSTALLED	BRAND OR EQUIVALENT ACCEPTABLE FOR LINES THAT ARE NOT SHADED	LABOR COST PER SQUARE YARD FOR NEW INSTALLATIONS	MATERIALS COST DELIVERED FOB DESTINATION PER SQUARE YARD FOR NEW INSTALLATION	TOTAL FOR LABOR AND MATERIALS FOR NEW INSTALLATIONS DELIVERED AND INSTALLED	BRAND OR EQUIVALENT ACCEPTABLE FOR LINES THAT ARE NOT SHADED	LABOR COST PER SQUARE YARD FOR NEW INSTALLATIONS	MATERIALS COST DELIVERED FOB DESTINATION PER SQUARE YARD FOR NEW INSTALLATION	TOTAL FOR LABOR AND MATERIALS FOR NEW INSTALLATIONS DELIVERED AND INSTALLED
1	28.0 oz Unitary Back	Performance Broadloom	GLUED	PHILADELPHIA QUEEN COMMERICAL DIVIDEND J0081	PHILADELPHIA CAPITAL III #54281	8.00	17.55	25.55	MOHAWK CONNETIC	7.00	10.85	17.85	PHILADELPHIA QUEEN COMMERICAL DIVIDEND J0081	7.50	11.81	19.31
2	28.0 oz Unitary Back	Performance Broadloom	GLUED	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54272	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54272	8.00	17.40	25.40	HZ3M L&L	7.00	16.82	23.82	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54272	7.50	11.88	19.38
3	26.0 oz Unitary Back	Performance Broadloom	GLUED	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54270	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54270	8.00	16.40	24.40	MOHAWK NEW BASICS III	7.00	9.50	16.50	PHILADELPHIA QUEEN COMMERICAL VOCATION III 54270	7.50	11.27	18.77
5	28 oz. Action Back	Class 1 Moderate	GLUED	PATCRAFT/SOCCRATES II 28	PATCRAFT/SOCCRATES II 28	8.00	15.75	23.75					PATCRAFT/SOCCRATES II 28	7.50	15.20	22.70
6	Carpet Tile/Modular	17 oz.	GLUED OR SS	LEES WORK IT. TILE 17	LEES WORK IT. TILE 17	8.00	30.10	38.10	LEES WORK IT TILE 17 OZ.	7.00	21.98	28.98				
7	Carpet Tile/Modular	17 oz.	GLUED OR SS	LEES BENDING EARTH COLLECTION	MOHAWK POSTURE TILE #BT407	8.00	17.25	25.25	MOHAWK NEW BASICS III (18 oz)	7.00	15.75	22.75				
8	Carpet Tile/Modular	17 oz.	GLUED OR SS	LEES CLASS ACT	MOHAWK HIGH MARKS TILE #GT108	8.00	35.00	43.00	LEES CLASS ACT	7.00	23.82	30.82				
9	Carpet Tile/Modular	22 oz.	GLUED OR SS	LEES FLAMESTITCH III	LEES FLAMESTITCH III	8.00	38.95	46.95	J &J MINERAL (22 OZ.)	7.00	16.88	23.88				
10	Carpet Tile/Modular	26 oz.	GLUED OR SS	QUEEN/CHANGE IN ATTITUDE	QUEEN/CHANGE IN ATTITUDE	8.00	34.40	42.40	J + J CAMEO II	7.00	27.23	34.23	QUEEN/CHANGE IN ATTITUDE	7.50	18.15	25.65
- 11	Carpet Tile/Modular	24 oz.	GLUED OR SS	PATRCRAFT/BIG SPLASH/MODULAR	PATRCRAFT/BIG SPLASH/MODULAR	8.00	31.35	39.35					PATRCRAFT/BIG SPLASH/MODULAR	7.50	17.50	25.00
12	Carpet Tile/Modular	25 oz.	GLUED OR SS	LEES ROOKIE NEWCOMER	MOHAWK NEWCOMER TILE #GT156	8.00	34.30	42.30	MOHAWK WORK IT! 260Z	7.00	23.35	30.35				
14	Carpet Tile/Modular	26 oz.	GLUED OR SS	LEES FACULTY REMIX	LEES FACULTY REMIX	8.00	34.25	42.25	LEES FACULTY REMIX	7.00	23.85	30.85				
15	COST PER SQ. FT. FOR S			I NT	MOHAWK EDGELAND TILE #C0085	1.45	1.70		ROPPE NORTHERN TIMBERS (28 mil)	1.25	2.35	3.60				
16	COST PER SQ. FT. FOR V			NA COLLARS BANGER BATTERN	AZROCK-STANDARD VCT	1.25	0.90	2.15	ARMSTRONG VCT	1.10		1.95				
17				NT SQUARE RAISED PATTERN NT ROUND RAISED PATTERN	JOHNSONITE ROUNDEL	1.75		9.25	ROPPE ROPPE	1.50		7.25 7.25	 			
19			E™ SLIP-RETARDANT TILE		JOHNSONITE ROUNDEL AZROCK COLOR ESSENCE	1.75	7.50 3.00	9.25 4.45	ROPPE	1.50	5.75	7.25				
20	COST PER SQUARE YAR			ERTIFIED RECLAMATION FACILITY AND	3K		1	12.50			1	7.00			I.	12.50
	NAME AND LOCATION				CARPET CYCLE, ROSELLE, NJ	,	'		CARPET CYCLE, ROSELLE, NJ				CARPET CYCLE, ROSELLE, NJ			•
10% M	ARKUP ON WHOLESALE PI	ICING INCLUDING BUT	NOT LIMITED TO SYNTH	ETIC HAIR OR JUTE PADDING, TREADS, I	REDUCERS, PATCHES, DOUBLE	GLUE, ETC.										